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15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
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56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.




14. o-& a2} Zo] /C = 90° 91 Azt
Z+4 ABC oA AC 9] Zol& F35t=
Al O 9
L
@ 5sin40° @ 5cos40°

. 5
(3)5 tan 40 o d0°
5 sin 40°

AC BO—AColm=
BC

.. Htan40°




15. o 2" T2 4775 A
OABCD 9] Y o|& oloat.

> E
> ™ED 72

3V3
cos30°=i°]—‘1§a=6

a

w2k oABCD 2] Ho]& 242 = 72 o]t}




Zo|7t 12m Q1 AL |7} o 213
o] BejA ot AHOe 2 RE Fy
21 72 9] =o| h 9 k& ot et
(<, sin37° = 0.6 , cos37° = 0.8,
tan37° = 0.8 2 A4t} \37°

[
| — 'Y

=

>
[> Heh. 45 m

B

AR Fol7t 12m oD AAO R ej7 F74A] 9]
ol & h 2t 5HA P27 HE Yol 12— 4 olek.

h=(12-h)sin37°

= (12-h) x 0.6
=7.2-0.6h
1.6h =720 h= 9_ 4.5(m) o]t}

2




17. oh& A2Fd ABC 9 Heols 75t A

2},
> CF Cm2
> He 16 cm?

A7V ABC 9] 0|2 h 21 5FH h = 42 x sin45° = dem
1
wakA] Yol 8 x4 x 5= 16cm? o]t}.

ofl




18. oz Z™elA AB ] Zol=?

O 12 @ 13 3 14

@ 15 @16

B

AH = 8sin30° =4

CH = 8c0s30° =43

BH =4V3tan60° = 4V3 x V3 =12
~AB=AH+BH=4+12=16




thg 1%} 2ol AB
B Al A 71771 9

ol g Fotu?

Sy
1

19.

100m, /ABQ = 90°, /BAQ = 30° ©]1,
P A &9t 2 Zo] 60°d o, 7139

® 80m @ 90m 3100 m
@ 110m ® 120m
BQ
t C=—
an 30 100"
V3 1003
(m)

BQ = 100 tan 30° = 100 x 3

-3

PQ —— _
tan 60° = =Q, PQ = tan 60° x BQ
BQ
— 1
. PQ= V3x 0(;\/5 =100 (m)




@ (202 + 1.7)m @) 253+ 1.7)m
® (25V2+ 1.7)m @ (28V2+1.7)m
® (30V3 + 1.7)m

B ~

__ L h - h
S ok = ShH = , S —
= A1 CH = hm 2 5t AH tan 30° B tan 60°
o A
- 1 1
AH_BH_h(tan3O°_tan60°>

1
50:h<\/_——)

V3

h:50><\/7§ = 25V3(m)

" (®°])= (25 V3 + L.7)m




> = cm?
> Hehl 18v2cem?
1
(Hol) = §><8><9><sin45°
2
:%x8x9x‘/7_:18«/§(cm2)




>
> Heh 202 cm?

1
(§°]) = = x 8x 10 x sin (180° - 135°)

:§><8><10><sin45°

1 g
:§x8x10x%_:20\/§(cm2)




23.

S 83 ZH2 AABC 9] Yol & L6HH?

@® 48v6 @ 4845 @48«/5 @ 482

® 48

B

1
(AABC) = = x 24 x 8 V/3 x sin 30°

1

=—-—x24 —

5 X ><8\/§><2
=483




24. T3 2L A7 ABCD o HolE #edst] ale] 27

@113 @ 114 ® 115 @ 117 ® 119

(Wo]) = 1 x 12 x 20 X sin 70°

= §x12x20x0.94
=112.8 =113




25. T2 oA AABC 9F AACD 2] Ylo]9] Ap=9

D
A
7 10
A )
B&E ’c

Selige---

@ 8 @ 83 (@)12«/5
@ 523 ® 104V3

AB = 16 cos60° = 8
AC = 16 x sin60° = 8 V3

AABC:%XSX16><sin60°:32\/§

AACDz%XlOXS\@XSin3O°:2O\/§

wetA AABC 2F AACD 9] Yo]9] 2= AABC-AACD = 12V3
o|ch.




